/-’ Assembly Instructions for 18 & 21 Post Storage Carts

(< sowmons o 1 " :

Mlih‘lﬁliuth 5 %

l. Attach 4 Wheels to the bottom of the Storage Tray v 1
using the M10 bolts making sure the wheel plates are v !
facing in the correct direction M6 x 15 Bolts
MNOTE: There are two locking wheels and two standard wheels.

Attach both locking wheels at one end, not diagonally across
from each other

@ 1. Set the storage tray on its wheels
Crose-bar without 2. Using 4 x M6 balis attach each upright onto
serew holes . i the Storage Tray, make sure the bolts are tight
: Il M6 % 15
M6 X 15 v
Post Rack
Cross-bar with ¢
screw holes i
p=
1. Using 2 x M6 bolts attach the cross bars onto the uprights
MNOTE: Keep these bolts loose 1. Using 4 x M6 bolts attach each Post Rack to the Cross Bars
NOTE: Keep these bolts loose
. & Il Post Racks arc ¢ hed tighten the Cross Bs lis
Chetk that all bﬂlts are tlght befﬂre use. {]-T]f??i ost Racks are attached tighten the Cross Bar bolis
3. Now tighten the Post Rack bolis

NOTE: THIS MODEL CART IS DESIGNED FOR USE WITH A SPECIFIC DIAMETER OF STANCHION. PLEASE ENSURE THE MODEL ¥OU HAVE |15 COMPATIBLE WITH YOUR

STANCHIONS. IF STANCHIONS ARE NOT A TIGHT FIT THEY MAY SLIDE OUT OF THE RACKS CAUSING A RESK OF INJURY.



